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1. In	the	given	figure, =sinM

(i)
KL
ML

(ii)
KL
KM

(iii)
ML
KL

(iv)
ML
NL

(v)
MK
LK

2. In	the	given	figure, =cosN

(i)
PN
PO

(ii)
NP
NO

(iii)
NO
NP

(iv)
PN
ON

(v)
PO
QO

3. In	the	given	figure, =tanB

(i)
BC
DB

(ii)
CD
BC

(iii)
DC
BD

(iv)
CD
DB

(v)
ED
DC



4. In	the	given	figure, =cotE

(i)
EG
GF

(ii)
EF
FG

(iii)
GE
EF

(iv)
GF
HG

(v)
GE
FG

5. In	the	given	figure, =secI

(i)
HG
HI

(ii)
JH
JI

(iii)
IH
IG

(iv)
GH
GI

(v)
GI
HI

6. In	the	given	figure, =cosecK

(i)
JI
KI

(ii)
IK
IJ

(iii)
KJ
IJ

(iv)
LJ
KJ

(v)
IJ
KJ



7. In	the	given	figure, =sinN

(i) 3
13 (ii) 5

11 (iii) 7
13 (iv) 1

3 (v) 5
13

8. In	the	given	figure, =cosJ

(i) 35
37 (ii) 35

39 (iii) 1 (iv) 33
37

9. In	the	given	figure, =tanC

(i) 5
2 (ii) 13

8 (iii) 15
8 (iv) 3

2 (v) 17
8



10. In	the	given	figure, =cotL

(i) 2
3 (ii) 2 (iii) 4 (iv) 4

3 (v) 4
5

11. In	the	given	figure, =secG

(i) 17
15 (ii) 1 (iii) 17

13 (iv) 19
15

12. In	the	given	figure, =cosecF

(i) 37
35 (ii) 1 (iii) 39

35 (iv) 37
33

13. In△JKL,	right	angled	atK, if JK	=	24	cmandKL	=	10	cm,findsinL

(i) 4
5 (ii) 10

13 (iii) 14
13 (iv) 12

11 (v) 12
13

14. In△HIJ ,	right	angled	at I , ifHI	=	24	cmandIJ	=	10	cm,findcosH

(i) 14
13 (ii) 4

5 (iii) 10
13 (iv) 12

13 (v) 12
11



15. In△IJK,	right	angled	at J , if IJ	=	24	cmandJK	=	10	cm,findtanI

(i) 1
2 (ii) 5

12 (iii) 1
4 (iv) 7

12 (v) 5
14

16. In△OPQ,	right	angled	atP, ifOP	=	35	cmandPQ	=	12	cm,findcotO

(i) 37
12 (ii) 7

2 (iii) 5
2 (iv) 35

12 (v) 11
4

17. In△GHI ,	right	angled	atH, ifGH	=	8	cmandHI	=	6	cm,findsecG

(i) 7
4 (ii) 5

4 (iii) 3
4 (iv) 5

2 (v) 5
6

18. In△KLM,	right	angled	atL , ifKL	=	24	cmandLM	=	10	cm,findcosecM

(i) 11
12 (ii) 13

10 (iii) 5
4 (iv) 13

14 (v) 13
12

19. =sinK

(i)

	
	1

	
	secK

(ii)

	
	1

	
	cotK

(iii)

	
	1

	
	cosK

(iv)

	
	1

	
	tanK

(v)

	
	1

	
	cosecK

20. =cosH

(i)

	
	1

	
	tanH

(ii)

	
	1

	
	secH

(iii)

	
	1

	
	sinH

(iv)

	
	1

	
	cosecH

(v)

	
	1

	
	cotH

21. =tanA

(i)

	
	1

	
	sinA

(ii)

	
	1

	
	cosecA

(iii)

	
	1

	
	cotA

(iv)

	
	1

	
	secA

(v)

	
	1

	
	cosA

22. =cotL

(i)

	
	1

	
	cosL

(ii)

	
	1

	
	sinL

(iii)

	
	1

	
	secL

(iv)

	
	1

	
	tanL

(v)

	
	1

	
	cosecL

23. =secB

(i)

	
	1

	
	sinB

(ii)

	
	1

	
	tanB

(iii)

	
	1

	
	cotB

(iv)

	
	1

	
	cosecB

(v)

	
	1

	
	cosB

24. =cosecM

(i)

	
	1

	
	cosM

(ii)

	
	1

	
	secM

(iii)

	
	1

	
	sinM

(iv)

	
	1

	
	tanM

(v)

	
	1

	
	cotM



25. Given	 = ,find	sinD 8
17 cosD

(i) 17
15 (ii) 15

8 (iii) 17
8 (iv) 15

17 (v) 8
15

26. Given	 = ,find	sinM 3
5 tanM

(i) 4
3 (ii) 4

5 (iii) 5
4 (iv) 3

4 (v) 5
3

27. Given	 = ,find	sinA 4
5 cotA

(i) 3
4 (ii) 5

3 (iii) 3
5 (iv) 5

4 (v) 4
3

28. Given	 = ,find	sinB 5
13 secB

(i) 5
12 (ii) 12

13 (iii) 13
12 (iv) 12

5 (v) 13
5

29. Given	 = ,find	sinK 8
17 cosecK

(i) 15
8 (ii) 17

15 (iii) 17
8 (iv) 15

17 (v) 8
15

30. Given	 = ,find	cosG 15
17 sinG

(i) 17
15 (ii) 15

8 (iii) 17
8 (iv) 8

15 (v) 8
17

31. Given	 = ,find	cosJ 4
5 tanJ

(i) 5
4 (ii) 4

3 (iii) 3
4 (iv) 5

3 (v) 3
5

32. Given	 = ,find	cosJ 12
13 cot J

(i) 12
5 (ii) 5

13 (iii) 5
12 (iv) 13

5 (v) 13
12

33. Given	 = ,find	cosE 15
17 secE

(i) 17
15 (ii) 8

15 (iii) 15
8 (iv) 8

17 (v) 17
8



34. Given	 = ,find	cosN 4
5 cosecN

(i) 5
3 (ii) 4

3 (iii) 3
5 (iv) 3

4 (v) 5
4

35. Given	 = ,find	tanP 4
3 sinP

(i) 5
4 (ii) 3

5 (iii) 4
5 (iv) 3

4 (v) 5
3

36. Given	 = ,find	tanD 5
12 cosD

(i) 12
5 (ii) 13

5 (iii) 12
13 (iv) 13

12 (v) 5
13

37. Given	 = ,find	tanC 5
12 cotC

(i) 12
5 (ii) 12

13 (iii) 13
12 (iv) 13

5 (v) 5
13

38. Given	 = ,find	tanN 4
3 secN

(i) 3
5 (ii) 5

3 (iii) 4
5 (iv) 5

4 (v) 3
4

39. Given	 = ,find	tanG 4
3 cosecG

(i) 5
3 (ii) 3

4 (iii) 4
5 (iv) 3

5 (v) 5
4

40. Given	 = ,find	cot J 4
3 sin J

(i) 5
3 (ii) 4

5 (iii) 3
5 (iv) 3

4 (v) 5
4

41. Given	 = ,find	cotG 12
5 cosG

(i) 5
13 (ii) 13

12 (iii) 13
5 (iv) 12

13 (v) 5
12

42. Given	 = ,find	cotH 3
4 tanH

(i) 5
4 (ii) 4

3 (iii) 5
3 (iv) 3

5 (v) 4
5



43. Given	 = ,find	cotD 4
3 secD

(i) 5
3 (ii) 4

5 (iii) 3
4 (iv) 5

4 (v) 3
5

44. Given	 = ,find	cotG 3
4 cosecG

(i) 4
5 (ii) 3

5 (iii) 5
4 (iv) 5

3 (v) 4
3

45. Given	 = ,find	secD 5
4 sinD

(i) 3
4 (ii) 3

5 (iii) 5
3 (iv) 4

3 (v) 4
5

46. Given	 = ,find	secF 13
12 cosF

(i) 12
13 (ii) 13

5 (iii) 5
12 (iv) 5

13 (v) 12
5

47. Given	 = ,find	secA 13
12 tanA

(i) 12
13 (ii) 5

13 (iii) 5
12 (iv) 12

5 (v) 13
5

48. Given	 = ,find	secH 17
15 cotH

(i) 8
17 (ii) 8

15 (iii) 15
8 (iv) 17

8 (v) 15
17

49. Given	 = ,find	secP 13
12 cosecP

(i) 12
13 (ii) 5

13 (iii) 12
5 (iv) 13

5 (v) 5
12

50. Given	 = ,find	cosecK 5
3 sinK

(i) 3
4 (ii) 4

5 (iii) 3
5 (iv) 5

4 (v) 4
3

51. Given	 = ,find	cosecF 5
4 cosF

(i) 3
4 (ii) 5

3 (iii) 4
3 (iv) 4

5 (v) 3
5



52. Given	 = ,find	cosecM 5
3 tanM

(i) 5
4 (ii) 4

3 (iii) 3
5 (iv) 3

4 (v) 4
5

53. Given	 = ,find	cosecG 13
5 cotG

(i) 5
13 (ii) 5

12 (iii) 13
12 (iv) 12

13 (v) 12
5

54. Given	 = ,find	cosecB 17
8 secB

(i) 8
17 (ii) 15

8 (iii) 17
15 (iv) 15

17 (v) 8
15

55. Given	that ,	find		=	5sinθ 3 	
	cosθ

(i) 5
4 (ii) 5

3 (iii) 4
3 (iv) 4

5 (v) 3
4

56. Given	that ,	find		=	5sinθ 3 	
	tanθ

(i) 5
3 (ii) 4

3 (iii) 5
4 (iv) 3

4 (v) 4
5

57. Given	that ,	find		=	13sinθ 5 	
	cotθ

(i) 12
13 (ii) 13

12 (iii) 12
5 (iv) 5

12 (v) 13
5

58. Given	that ,	find		=	17sinθ 8 	
	secθ

(i) 17
8 (ii) 8

15 (iii) 17
15 (iv) 15

8 (v) 15
17

59. Given	that ,	find		=	13sinθ 5 	
	cosecθ

(i) 12
5 (ii) 13

12 (iii) 13
5 (iv) 5

12 (v) 12
13

60. Given	that ,	find		=	17cosθ 15 	
	sinθ

(i) 17
15 (ii) 15

8 (iii) 8
17 (iv) 8

15 (v) 17
8

61. Given	that ,	find		=	13cosθ 12 	
	tanθ

(i) 5
13 (ii) 5

12 (iii) 12
5 (iv) 13

5 (v) 13
12



62. Given	that ,	find		=	5cosθ 4 	
	cotθ

(i) 4
3 (ii) 5

4 (iii) 3
5 (iv) 5

3 (v) 3
4

63. Given	that ,	find		=	17cosθ 15 	
	secθ

(i) 8
15 (ii) 15

8 (iii) 17
8 (iv) 8

17 (v) 17
15

64. Given	that ,	find		=	17cosθ 15 	
	cosecθ

(i) 17
15 (ii) 8

17 (iii) 17
8 (iv) 8

15 (v) 15
8

65. Given	that ,	find		=	4tanθ 3 	
	sinθ

(i) 5
3 (ii) 3

5 (iii) 4
5 (iv) 4

3 (v) 5
4

66. Given	that ,	find		=	12tanθ 5 	
	cosθ

(i) 13
12 (ii) 13

5 (iii) 5
13 (iv) 12

13 (v) 12
5

67. Given	that ,	find		=	3tanθ 4 	
	cotθ

(i) 4
5 (ii) 5

4 (iii) 3
5 (iv) 3

4 (v) 5
3

68. Given	that ,	find		=	15tanθ 8 	
	secθ

(i) 8
17 (ii) 15

8 (iii) 17
8 (iv) 15

17 (v) 17
15

69. Given	that ,	find		=	4tanθ 3 	
	cosecθ

(i) 4
5 (ii) 3

5 (iii) 5
4 (iv) 4

3 (v) 5
3

70. Given	that ,	find		=	5cotθ 12 	
	sinθ

(i) 13
12 (ii) 5

12 (iii) 13
5 (iv) 12

13 (v) 5
13

71. Given	that ,	find		=	5cotθ 12 	
	cosθ

(i) 5
12 (ii) 5

13 (iii) 13
5 (iv) 12

13 (v) 13
12



72. Given	that ,	find		=	8cotθ 15 	
	tanθ

(i) 8
15 (ii) 17

15 (iii) 15
17 (iv) 8

17 (v) 17
8

73. Given	that ,	find		=	8cotθ 15 	
	secθ

(i) 8
15 (ii) 17

8 (iii) 17
15 (iv) 15

17 (v) 8
17

74. Given	that ,	find		=	4cotθ 3 	
	cosecθ

(i) 3
5 (ii) 4

5 (iii) 5
4 (iv) 4

3 (v) 5
3

75. Given	that ,	find		=	12secθ 13 	
	sinθ

(i) 12
13 (ii) 13

5 (iii) 12
5 (iv) 5

13 (v) 5
12

76. Given	that ,	find		=	4secθ 5 	
	cosθ

(i) 5
3 (ii) 4

3 (iii) 3
4 (iv) 3

5 (v) 4
5

77. Given	that ,	find		=	15secθ 17 	
	tanθ

(i) 15
8 (ii) 8

15 (iii) 17
8 (iv) 15

17 (v) 8
17

78. Given	that ,	find		=	15secθ 17 	
	cotθ

(i) 15
8 (ii) 8

17 (iii) 17
8 (iv) 8

15 (v) 15
17

79. Given	that ,	find		=	15secθ 17 	
	cosecθ

(i) 15
17 (ii) 8

17 (iii) 15
8 (iv) 17

8 (v) 8
15

80. Given	that ,	find		=	5cosecθ 13 	
	sinθ

(i) 13
12 (ii) 5

12 (iii) 5
13 (iv) 12

5 (v) 12
13

81. Given	that ,	find		=	3cosecθ 5 	
	cosθ

(i) 4
5 (ii) 3

4 (iii) 4
3 (iv) 5

4 (v) 3
5



82. Given	that ,	find		=	8cosecθ 17 	
	tanθ

(i) 15
8 (ii) 8

17 (iii) 8
15 (iv) 15

17 (v) 17
15

83. Given	that ,	find		=	5cosecθ 13 	
	cotθ

(i) 12
5 (ii) 13

12 (iii) 5
13 (iv) 5

12 (v) 12
13

84. Given	that ,	find		=	4cosecθ 5 	
	secθ

(i) 5
3 (ii) 3

4 (iii) 4
5 (iv) 3

5 (v) 4
3

85. From	the	given	figure, find	sin( )	−	90 K

(i)
JK
IJ

(ii)
IK
IJ

(iii)
IJ
JK

(iv)
IJ
IK

(v)
JK
IK

86. From	the	given	figure, find	cos( )	−	90 E

(i)
EF
FG

(ii)
FG
EF

(iii)
EG
EF

(iv)
FG
EG

(v)
EF
EG

87. From	the	given	figure, find	tan( )	−	90 I

(i)
GH
GI

(ii)
GI
GH

(iii)
HI
GI

(iv)
HI
GH

(v)
GI
HI



88. From	the	given	figure, find	cosec( )	−	90 F

(i)
FG
GH

(ii)
GH
FH

(iii)
FH
FG

(iv)
FH
GH

(v)
GH
FG

89. From	the	given	figure, find	sec( )	−	90 G

(i)
EG
EF

(ii)
FG
EG

(iii)
EF
FG

(iv)
FG
EF

(v)
EG
FG

90. From	the	given	figure, find	cot( )	−	90 G

(i)
EG
FG

(ii)
EG
EF

(iii)
EF
EG

(iv)
FG
EG

(v)
EF
FG
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